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Function Transformation ‘ Simplest Case
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Coordinate Systems
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Other Mathematical Formulas
Linear Algebra

1 if jk = 123,231,312,
eije =14 -1 if ijk=213,321,132, Y €ijn€m = udjm — dimdji
0 else. k

a2 az2 Aa23 a21 G23 az1 G22
det | a91 a2 asg | = app det — ajg det + a3
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Properties of Trigonometric Functions

sin(x + y) = sinx cosy +siny cosx cos(x £ y) = cosz cosy Fsinzsiny
sin(2z) = 2sinz cos cos(2x) = cos? z — sin? z
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dr sinx = dx cosx =0 dx sin?z = dr cos’z =7
0 0 0 0

Heaviside Step Function and Dirac Delta Function
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Miscellaneous
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